
20K4

20K4

20K4

20K4 (0" CHAMBER)W
 8

x1
3

 (
-2

 1
/2

")

SW (SHEAR WALL)

S
W

S
W

SHEAR WALL HOLD
DOWNS (4) LOCATIONS
- NOTE 10

7

7

7

7

8

4
'-8

"
5

'-0
"

5
'-0

"
±
4
'-4

"

1
S201

6
S201

5
S201

2
S201

1 ROOF DECK BEARING
3/4" =  1' - 0" EAST WALL 5 JOIST BEARING

3/4" =  1' - 0" NORTH AND SOUTH WALLS

2 WALL BASE CONDITION
3/4" =  1' - 0" TYPICAL FOR METAL STUD WALL 6 BEARING; BRIDGING

3/4" =  1' - 0" ELEVATION OF WALL 14 FRAMING/SHEAR PLAN
1/4" =  1' - 0" . NORTH

E

S

W

100'-0"

111'-4" VARIES

METAL ROOF DECK

HILTI XU @16" O.C.

L6 x 4 x 14" CONTINUOUS
WITH FULL PENETRATION
SPLICES

WALL PANEL

1 12" x 1 12" x 18 GU ANGLE
- CONTINUOUS

SHEAR WALL FASTENING
PATTERN TO ANGLE

HAT CHANNEL BY PANEL
SUPPLIER

BRIDGING - SEE PLAN

6" STUD

1
2" DRY WALL SHEATHING
MINIMUM

6" LIGHT GAUGE STUDS

WALL PANEL

1
2" DRY WALL SHEATHING
MINIMUM

HAT CHANNEL

FLOOR SLAB

HILTI XU @16" O.C.

#10 SCREWS

(2) #4 x LENGTH TOP
AND BOTTOM

METAL ROOF DECK

HILTI XU @16" O.C.

5
16" BENT PLATE OR ANGLE

L6 x 4 x 14" CONTINUOUS
WITH FULL PENETRATION
SPLICES

1 12" x 1 12" x 18 GU ANGLE
- CONTINUOUS

SHEAR WALL FASTENING
PATTERN TO ANGLE

HAT CHANNEL BY PANEL
SUPPLIER

BRIDGING - SEE PLAN

6" STUD WALLS, SEE
ELEVATION 6/S201

METAL PANEL

1
2" DRY WALL SHEATHING
MINIMUM

MATCH HAT CHANNEL

1 1/2" MIN
1/4

BAR
JOIST

METAL ROOF DECK

JOIST SEAT

L6 x 4

(2) 600S162-54 @
JOIST BEARING

PROVIDE BRIDGING @
5'-0" O.C.. (3) EQ SPACES - (24" O.C. MAX) .

.

.

.

.

.

³
³ Fa

rm
 to

 T
ab

le 
Re

sta
ur

an
t / 

Ma
rke

t Gr
ee

n B
ay

, W
I  5

43
03

D
IM

E
N

S
IO

N
IV

G
r
e

e
n

 
B

a
y
,
 
W

I
 
 
5

4
3

0
3

F
a

x
 
 
 
 
 
 
(
9

2
0

)
 
4

3
1

-
3

4
4

5

w
w

w
.
d

i
m

e
n

s
i
o

n
-
i
v
.
c
o

m

A
 
D

i
v
i
s
i
o

n
 
o

f
 
I
d

e
a

 
H

o
u

s
e

,
 
I
n

c
.

I
n

c
o

r
p

o
r
a

t
i
n

g
 
t
h

e
 
p

r
i
n

c
i
p

l
e

s
 
o

f
 

G
r
e

e
n

 
A

r
c
h

i
t
e

c
t
u

r
e

 
a

n
d

 
S

u
s
t
a

i
n

a
b

l
e

 
D

e
s
i
g

n

24
75

 W
es

t M
as

on
 S

tre
et

REVISIONS:

DRAWN APPRVD

MAY 22, 2018

Copyright   C   2018
Idea House, Inc.

Verify all existing site conditions

.

1
2

4
 
S

.
 
B

r
o

a
d

w
a

y

P
h

o
n

e
 
 
(
9

2
0

)
 
4

3
1

-
3

4
4

4

TE
NE

T

SHEET INDEX:

P
l
a

n
n

i
n

g
,
 
A

r
c
h
i
t
e

c
t
u

r
a

l
 
D

e
s
i
g

n
,
 
a

n
d
 
C

o
n

s
t
r
u

c
t
i
o

n
 
A

d
m

i
n

i
s
t
r
a

t
i
o

n

S201

DJR djr .

.

.

.

.

.

MAY 31

G714-S201-96.dwg

FRAMING PLAN &
DETAILS

AutoCAD SHX Text
W48

AutoCAD SHX Text
C12

AutoCAD SHX Text
C12

AutoCAD SHX Text
W24

AutoCAD SHX Text
C12

AutoCAD SHX Text
C12

AutoCAD SHX Text
W48

AutoCAD SHX Text
W48

AutoCAD SHX Text
W48

AutoCAD SHX Text
W48

AutoCAD SHX Text
W48

AutoCAD SHX Text
W48

AutoCAD SHX Text
C12

AutoCAD SHX Text
C12

AutoCAD SHX Text
W48

AutoCAD SHX Text
W48

AutoCAD SHX Text
W48

AutoCAD SHX Text
W48

AutoCAD SHX Text
W48

AutoCAD SHX Text
W24

AutoCAD SHX Text
W48

AutoCAD SHX Text
C12

AutoCAD SHX Text
C12

AutoCAD SHX Text
W48

AutoCAD SHX Text
W48

AutoCAD SHX Text
W24

AutoCAD SHX Text
W16

AutoCAD SHX Text
W16

AutoCAD SHX Text
W12

AutoCAD SHX Text
T24

AutoCAD SHX Text
T12

AutoCAD SHX Text
T24

AutoCAD SHX Text
T12

AutoCAD SHX Text
T24

AutoCAD SHX Text
T12

AutoCAD SHX Text
T24

AutoCAD SHX Text
T12

AutoCAD SHX Text
W48

AutoCAD SHX Text
W12

AutoCAD SHX Text
W16

AutoCAD SHX Text
W16

AutoCAD SHX Text
W16

AutoCAD SHX Text
W16

AutoCAD SHX Text
W16

AutoCAD SHX Text
W16

AutoCAD SHX Text
W16

AutoCAD SHX Text
W16

AutoCAD SHX Text
W48

AutoCAD SHX Text
STEEL JOIST PLAN NOTES (ALL NOTES APPLY TO THIS PLAN; NOTES WITH A     ARE SPECIFICALLYCO REFERENCED ON THE PLAN AS WELL.   1.	TOP OF BASE STEEL (JOIST BEARING ELEVATION - TOP OF BASE STEEL (JOIST BEARING ELEVATION - JBE) AS NOTED ON SECTIONS DECK BEARING ELEVATIONS = AS NOTED ON SECTIONS 2.	ROOF DECK SHALL BE 1  "X 22GA WIDE RIBBED PRIME ROOF DECK SHALL BE 1  "X 22GA WIDE RIBBED PRIME 12"X 22GA WIDE RIBBED PRIME PAINTED DECK PROPERTIES   t = 0.0295"  I = 0.212 in^4  Sp= 0.192 in³/ft /ft  Fy= 33 ksi  Sn= 0.192 in³/ft /ft 3.	DECK SHALL BE FASTENED TO SUPPORTING MEMBERS DECK SHALL BE FASTENED TO SUPPORTING MEMBERS USING A 36/4 PATTERN USING ANY OF THE ATTACHMENT METHODS SHOWN IN DETAIL X/SX.X WITH (1) #12 TEK SIDE-LAP FASTENER PER SPAN.   4.	PLACE DECK PERPENDICULAR TO SUPPORTING MEMBERS PLACE DECK PERPENDICULAR TO SUPPORTING MEMBERS USING 3-SPAN MINIMUM UNLESS OTHERWISE NOTED. 5.	JOIST SUPPLIER TO PROVIDE CONTINUOUS TOP AND JOIST SUPPLIER TO PROVIDE CONTINUOUS TOP AND BOTTOM CHORD HORIZONTAL BRIDGING, AND X-BRIDGING AS REQUIRED BY JOIST DESIGN, AND SJI SPECIFICATION.  6.	ALL BAR JOISTS SHALL BE DESIGNED FOR 7 PSF NET ALL BAR JOISTS SHALL BE DESIGNED FOR 7 PSF NET UPLIFT (ASD) 7.	WALL FRAMING TO BE 600S162-54 STUDS AT 24" O.C. WALL FRAMING TO BE 600S162-54 STUDS AT 24" O.C. MAX.  PROVIDE DOUBLE STUDS AT JOIST BEARING AND ADJACENT TO DOORS AND WINDOWS.  SEE DETAILS FOR ADDITIONAL INFO. 8.	PROVIDE HSS4X4X " POST AT BEAM BEARING WITH MIN PROVIDE HSS4X4X " POST AT BEAM BEARING WITH MIN 14" POST AT BEAM BEARING WITH MIN 12" BASE PLATE AND (2)  " EXPANSION ANCHORS INTO 12" EXPANSION ANCHORS INTO EXISTING CONCRETE WALL. 9.	SW = SHEAR WALL.  MIN  " DRYWALL WITH #6 x 1  " SW = SHEAR WALL.  MIN  " DRYWALL WITH #6 x 1  " 12" DRYWALL WITH #6 x 1  " 14" SCREWS AT 4" O.C. AT PANEL EDGES AND 12" O.C. AT INTERMEDIATE SUPPORTS.  ALL EDGES SHALL BE BLOCKED WITH MIN 33 MIL x 1  " FLAT STRAPPING OR 12" FLAT STRAPPING OR BLOCKING TO MATCH WALL SECTIONS. 10.	AT SHEAR WALL HOLD DOWN PROVIDE SIMPSON AT SHEAR WALL HOLD DOWN PROVIDE SIMPSON S/DTT2Z w/ (8) #14 SCREWS, AND  " DIAMETER 12" DIAMETER ANCHOR BOLT. 


	Sheets and Views
	S201 Frm


